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Instructions :

(1)

(11)

Each question carries one mark.

(28 235 a8 drdy) Sod.

Choose the correct or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4 in the circle
pertaining to the question number concerned in the OMR Answer Sheet, separately supplied o
you.

A5 ad)d (B8 (BAH aHgeaS TUS* BOTHS HErgE SN 58D oD
wrdod wo3 1, 2, 3 98 4 St ED')Eﬁ OMR »&droea ﬁLﬁiﬁmﬁ' Lﬁﬁlﬁ)
Powolodd Dopgho BEES wr/erl ord Fonod DR dOTrAcd NoBS T,

I'I'

BOTANY
In Bentham and Hooker's system of classification, the sub-class Polypetalac and Gamopetalae
have the cohorts in the ratio of
Doy, Tl $080m Sz, FOVUT NG MIP VLD adSGHS0 6
Bod E‘:J,Jgé"' S'a":'guéa SO0 ao&urow
(1) 3:2 2 1:1 (3) 2:1 (@) 2:3

In which of the following plants, pollen is released before the stigma becomes receptive in
the same flower 7

(1) Solamum (2) Allivm (3) Colchicum (4) Datura

af hyos'd Levifio DESAE T8E 308 oF Dhyos'd B8 Ddide
s*5d0, 6 (08 Bn&ed® dI6* 000087

(1) BrersSs Q) B8 | (3) eOyESH  (4) 88

3

Chromosome number in the endosperm cell of plant ‘A’ and in the root apical meristem cell
of plant ‘B’ together equal the chromosome number in the shoot apical merisiem cell of
Apple. Plants A and B respectively are

(1) Rice, Maize (2) Maize, Haplopappus
(3) Rice, Potato (4) Rice, Hap!npappus :

A BeE unﬁ:dﬁ% & Swod'n (Arstswe Popg H0on ‘B’ Susy s e
Jyraginarood'a wo (5'3ratine dopg SOD U (D5P0d 6| DeragEnare
fnod'd | Arstdne *Jmmsﬁ: narSom aotwod. A mnfﬁm B Sn) e Sdbm

(1) %0, Bng)a"sy (2) BoZyeHy, SHFPHH
(3) 50, moresrod (4) 568, SSF>B5

—
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4. There are 20% Adenines among the bases in a DNA fragment measuring 6.8 am in length
The number of pentoses, nitrogen base pairs, phosphate grnups and hydrogen bonds in this
DNA frugment are respectively
68 nm 8% Ko of DNA poddod'd poed' 20% wdd5s: Hof). & DNA
2u8S0S) Dos'hen, HB=) ¥ wdee, P ;]di' vhrdtos So0dkn '-.‘.}*L&‘:.m
DOGS ?&nq&sm S8™m
(1) 40, 20, 40, 52 (2) 52,20,20,40 (3) 40,52,40,20 (4) 20,40,52 40

5. Match the following lists

List-1 List-11
(A) G, phase (1) Rephication of DNA
(B) S phase {(II) Quiecscent stage
(€) G, phase (IlI) Condensation of chromatin
(D) G phase (IV) Protein synthesis

(V) Interval between mitosis and initiation of DNA replication

G |E0d Dol uddddod

o] a1l
(A) G, &% (I) DNA @858
(B) S &% (I) w=wos&d
(€) G, &4 (D) (FSr8S Ho(fiorno
(D) G, &4 (v Lﬂ‘ﬁﬁ SodRm P

(V) %% d¢fedh, DNA 5858 wboyrdB Hfs dovSdd

The correct answer is -
20 [ODNA RArorIdn

(A B (© (D)
(1 (v) ((np {m av
@ am o) M (1)
(3) (V) @) (1) (1)
@ vV (0 (Iv) (an

Rough Work - L

AM 2014 D 2R



WWW.previouspapers.in

b.

Match the following lists
List-1 List-11

(A) Golgl apparatus (I} Conversion of lipids 1o carbohvdrates
(B) Glyoxysomes (IIy Catabolism of long chain fatty acids
(C) Peroxisomes (HI) Formation of glycoproteins and glycolipids

(D) Endoplasmic reticulum. (IV) Synthesis of lipids
(V) Osmoregulation
61 (308 wDorod wddddod

Dol wdo-1l
(A) md Bo%8o () O%bed =8 @lam Srndys
(B) Eﬂﬁaﬁ’&m (1 5g oo Fd uire 20Dy, (Bow
(€) DB hies (111) EE‘ S, Eﬁ’ﬂhﬁm &Gk
(D) woddd Gdgaroo (V) 8980 Soiaw

(V) [B8=D586m S8ge ddSo(de

The correct answer is
20 BOOHD JIrgrDHSw

(A) (B) (€ (D
(h an . vy (@
2y (v) vy @ ()
(3) (v) (V) (1 (I
() (I @ dan (av)

7.  Which onc of the fnltm;'ing characters is not found in transverse scction of monocot stem?
(1) Starch sheath (2) Sclerenchymatous bundle sheath
{3) Lysigenous cavity (4) Sclerenchymatous hypodermis
& (Ead vimed' ) vgno JEGEhesodo w@s s §UD0NEN?
(1) wod 20 %2] S ¢Smurodind Pouy) &d
(3) vdherd HLTdo 4) S)dSmeroding ué#&ﬂ&n

8. A taxon is observed. Himgiri variety which is resistant to hill bunt disease belongs o this
taxon. In this taxon, pollen grains lose viability within 30 minutes of their release from
anthers. The taxaon belongs to the order
(1) Poales (2) Sapindales (3) Polemoniales (4) Rosales
wf &r57y85 H0800Ud0 =0N00. W& wod og08 (HBG FESK S h T EN0
g0 & s B Bofdiod. &1 e SE° SoriBmRen BoviE e Sood) DHEBS
30 a3vdred 3 S5 InesE 480 50" ypon. & S & (F5708 Todk&od
() &Hoh (2) >2oBOB (3) >d3r0THOB (4) FEOG

Rough Work

AM2014B 3R



Www.previouspapers.in

B\

9. Identify the wrong combination .
(1) Marchanila — Pseudo-elaters (2} Dryvopreris — Rhizome
(3) Cycas — Coralloid roots (4) Volvox — Colonial form
P00 Wo¥doHd Mbodod .
(1) Sropofialr - w8 aBbbw (2) (SE~POS - By
(3) DI5 - Py 3% @) o8 - DH0B4 drdo
10. Match the following lists
List-1 List-11
(A) Micrographia (I) Skoog
(B) Technique of plant tissue culture (IT) Bessey
(C) Phylogenetic classification (1I1) Joseph Priestly
(D) Absorption of toxic gases by plants (IV) Robert Hooke
(V) Stephan Hales
S 208 ool ad DHSSN
Dol aho-ll
(A) B |rHasr M & f
(B) dug Smeve 555 358 (1 Ty
(C) 5¢ D% H085w (I &8 & ]
(D) 3od) = DAJP0S (IV) o*uf
oo Thoddo (V) 95 o)y
The correct match is
a8 faﬂ@a& 30D
(A) (B) (©) (D
(1) am an (v) (1v)
2y (IV) (D . (@
@ dD: - (Ivy) (V)
(4) (V) (1) (1)  (1n
11, Trichodesmium erythrium which gives colour to red sea is a
(1) Brown alga (2) Green alga
(3) Blue green alga (4) Red alga
J(8 HINEEAE Soiss SeE D Bestab oo oo uE
(1) F&d &8 Aboo (2) @%H3y Ao
(3) DO mHdSy ASeo (4) APy 5§ AdwO
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12.

Identify the characters of mustard, chilli, cauliflower respectively
(1) Axile placentution, tricarpellary gynoecium, sessile flowers
(2) Inferior ovary, zygomorphic flower, corymb

(3) Wgurled phyllotaxy, umic—culnr ovary, production of flowers at the same node of the
peduncle

(4) Hypogynous flower, umlcculnr ovary, corymb

wh, N8B, 50LE08'D cEiwod SHBm HBoded

(1) So¥ wodirglbo, (BBod¥ wodf'¥o, $)od s Prjo

(2) A%y woarddiio, FEE FaS cdud Pajo, HHAH

(3) Sfoh B DrgHo, HEDOSHE worFoho, Ph Y ITghSyos ¥ Lo
9 warje odéy8 =dddo

(4) ©odE'xgHs Hhjo, MDodnd woarfcho, HBIP

13l

Four plants (A, B, C, D) are observed. *A” has cartilagenous endocarp in the fruit and fleshy
thalamus as chief edible part. ‘B" has caryopsis fruit with endosperm as the chief edible
part. In *C’, each carpel of apocarpous gynoecium develops into a fruitlet and its mesocarp
and endocarp are the chief edible parts. ‘D’ has syconus fruit with edible fleshy peduncle.
To which families A, B, C and D belong respectively 7

(1) Rosaceae, Poaceae, Annonaceae, Moraceae

(2) Annonaceae, Rosaceae, Moraceae, Rutaceae
(3) Solanaceae, Cucurbitaceae, Anacardiaceae, Moraceae
(4) Rutaceae, Anacardiaceae, Rosaceae, Fabaceae

Tl InEes: (A, B,C, D) 58200380 20A08. ‘A’ A&m T grom aod
wodrholSSos* 4ol .“pu'-D So0ckn EHFOS YParyoTy a'mms % 8 o
$0A dotnod. ‘B’ wobHhdS 8o (S8 8F grdom so0d 55 Dausdy ¥0A
406200, ‘C’ ¢° BPnodng Bods 100'd (BBYVEYo uE P ©D5)a Vo0
aotvosd. 38 SGp PosiSo, woSiHosSSo (DS IS 83 rmesm dodrown.
‘D’ Bk 8F fodhe PHhy DrghSyodos’ sod BEIS Hewd) €08 dokuod.
A, B,C 5:8080 Doo $&0%m @ Hdvowrn8 SoSoron?

(1) &'2%, oohh, eTdh TS

(2) oI35, 8%, rTD, HTH

(3) ot LHOHBY, w57 YL, T

(@) 8D, wdspahh, 5'Eh, PBD
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14. Match the following lists

List-1 List-11
(A) Alstonia (I) Roots at lower nodes of the stem
(B) Ananus sativus (1) Leaflets are attached at @ common point in the leafl
(C) Sugarcane (IIf) Swollen placenta
(D) Bombax ceiba (IV) More than two leaves at every node

(V) Underground lateral branches producing aerial leafy shoots

& 1808 wdeod ud S¢S0

Dol Lol
(A) wdFair () eodo T, (S0 EmPe 58 3%
(B) o35 DPSH () PHBod* HPsw w3S'G Hovil)o Tod dodbo
(C) BEH () &D) &%) wodTghdrso
(D) &owr§y bar (IV) (58 Sl S8 Todk Sol J%d Soves
(V) gvisy ard)3d Tpe Svasund JEdnd TROWN
DEESso

The correct match is
a8 HOThE a0y

(A) B (©€) (D)
() vy @m & O
2 av) vy @ W)
(& (V) ap @
) (v (I a av)
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15. Identify the wrong pair of statements

(I) Number of stamens in 5 flowers of Allium is equal to those in 5 flowers of Solanum.

(II) The microsporangia of Hibiscus and Asparagus are having 80 pollen grains each. Then
the ratio of the number bf pollen grains produced from each stamen of these two plants
511

(1) The ratio of the number of stamens in the flowers of Pisum and Datura i1s 2 : 1.

(IV) The number of carpels in a flower of Smilax is equal to the number of carpels in a
cyathium inflorescence.

polafop ) TewLO 280 MiodSod

() 9SS’ 5§ Parjos'd saoe Dopg For356'd § PHed'd Bdow
wopgH Vdrdom aGowod.

(I) 3or0%5, wdyorddd™d 28 &gy Hgberdahod® 80 SorddmHon ammyom.
& Tods Bedpod’ &8N, Thdo Hod ady B eThg Sod Taipo
Dogrg D@8 1 ¢ Ine dotnod,

(II) %5, S8r8 H>yos*d EThove Hopg Twly %38 2 : I dosod.

(IV) 353008y 2.8 HU0S') Bodere Bogg ol BAFRSS ‘-’aﬁaﬂa’sﬁad‘ﬂ
poders DopgH DBEFSoM dodod.

(1) (1), (1) (2) (m), (Iv) (3) M, av) (@) (@, an
16. Wind pollinated plants generally do not show the following character
(1) Flowers are large and colourful (2) Feathery stigma
(3) Single ovule in the ovary (4) Well exposed stamens
Foin Ho Hodipo BHYF'I oo Ferimor & oferd) SrHoSH
(1) Hrye: DEIm, Johed® dodbo (2) &ESod derfo
(3) soardchod® &8 wodo dodbo (4) W JSBS THow
Rough Work
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17.

B\

Identify the pair of wrong statements in the following

() Intine of pollen grain is made up of sporopollenin.

(11) Pollen grains are well preserved as fossils because of the presence of sporopollenin.
(111) Enzymes can degrade the organic material of the exine of pollen grain,

(IV) Sporopollenin can withstand high temperatures, strong acids and alkali.

Gt 500 TSt 5050 wgpgo sdud Mooded

() borBmd Buly vods Bedaisdo FYE'PBISS J6)8 aowod

(11} maﬁ'ﬂ‘ﬂﬁﬁ AodL0 39 Sorfifmedon fuwon FléSddSnderon

() 8BS dord TP wring héhsﬁ‘.‘:ﬁcﬁ‘ 4od holfdh hn’g‘ai-ﬂhnﬁﬁu:n
(IV) 83 BIS «bf aF (S0, VOIS BITUI, Foo ﬁqﬁ‘ﬁﬂd:

(1) (1), () (2) @, avy (3) (1), (1 (4 M, 1n

18.

Study the following lists
List-1 List-11
(A) BOD (I} Treatment of sewage
(B) KVIC (I) Mcasure of organic matter in water
(C) LAB (I) Biological methods for controlling plant diseases
(D) STPs (IV) Increases vitamin B,
(V) Production of Biogas
&1 308 rBorods edzdiano Sds08
Frarals N | who-ll
(A) BOD () Swdois NEY HOHEBIEDHL
(B) KVIC () Das*D E8yS do°g), Bww§s Hodreo
(C) LAB (1) o TgHo abodnd adE@rhos 45 Acho|dn I
(D) STPs (IV) 2625 B & Doddo
(V) 20rmgd 6d)3
The correct match is
a8 HOTHA 30y

(A) B (© (D
(Mmam o~ av O
) (av) (m an (V)
3) vy an am (@
@ M O o ()
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AM2014 B 8 R



WWW.previouspapers.in

19. ldenufy the correct pair of combination

() Parbhani Kranti —  Resistance o Virus —  Bhindi
(I1) Pusa Gaurav —  Resistance to Aphids —  Mustard
(III) Pusa Sadabahar  —  Resistance to frunt borer —  Cow pea
(IV) Pusa Shubhra Resistance to white rust  — Cauliflower
$0 T To¥do udd ffaﬂaﬁa&
(1) B8y |s*0d — RE0H (pas'GES — Toa
() e s — o90)%H pas'ges — wd
() i bondrd — Hoo SO Jbsoks (HBE°EYS e yd
(V) T | — Bod HoHs dhath DA gEs —  sbpSE
(1) (1), (1) (2) (1), (1) (3) (I, (IV) @) (@0,
20. Study the following lists
List-1 List-11
(A) RNAI () Cotton bollworms
(B) ELISA (1), Early detection of HIV
(C) PCR (1) Meloidegyne resistance
(D) Cry 1 Ab (IV) Antigen-Antibody interaction
(V) Corn borer
g (Bod aDorod wdgaiaso Sol08
i1 arDor-11
(A) RNAI (I =3 s ek OY Htbrb
(B) ELISA (I) HIVD (38 846° Sesni'Sdo
(C) PCR (1) DS andDIH [HBS S8
(D) CrylAb (IV) (5284% nibdo - ($B8E%0 HEDT B85

(V) &6y #°86 (Com borer)
The correct match is
al 20Thd #don

A) @ (©€) (@)
M vy M am (dn
(2) (m avy @m )
() av) (m @ (V)
@ (I an (v av)

Rough Work
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. Assume that the occurrence of nitrogen bases in adjacent positions in a DNA strand is

random. Identify the minimum number of nucleotides in a DNA swand where GAAT can
occur once on the basis of probability ?

DNA 2" 382D oves (58 (2% 3 acdeo 38 airdyuyso wisgtod. Sogrdgd
sgrdon GAAT [Fdso nédT acdenl ederdo o DNA FSS* dod SpETrEie
ENG 'éﬂq:g:'::. Hagﬂdnﬂ

(1) 1024 (2) 512 (3) 256 (4) 4096

2.

Some foreign DNA fragment is attached to Cla I site of pBR322. This recombinant vector
is used to transform Escherichia coli host cells. The cells subjected to transformation are
plated on two different media—one containing ampicillin and the other miﬂﬁ'lk tetracycline.
The transiormed cells containing the recombinant vector f
(1Y will grow on ampicillin but not on tetracycline containing medium

(2) will grow on both tetracycline containing and ampi:illi_ﬁ containing media
(3) will not grow on either tetracycline containing ur:nmj:iiﬁill'm conlaining media
(4) will grow on tetracycline but not on ampicillin containing medium

Seslicss DNAS pBR3226° 65 Clal §r30 3¢ 06T S, &1 Yirdomiras
rirdo 4 0% ol 83 Sure BOSEIT ,E2ASE. DOIGS Wood foren Dods
Hds 28 Brsee DS - 158 a0DPHOD FONEINY0, Doddd T&@:‘Eﬁﬁ"ﬂﬁhiﬁxﬁlh
 Soerd Sobugron. HboTred sied) S0NS 0585 To8S swes

(1) wobHOS §OAS crsto Nd Bémeos, I BEHES 00D Wrdso
B DEAR)

2) B ES D03 H0ux woRWOL FOAS drise BoBo8 & BEyLEOD

() B 3025 0% wrdgo Dl o), woDLOS SDAS SN E0 W6 TR wddd

(4) Ep_}:ﬁ% ZOAS rdEo D8 DEheron, Y wohIS SOAS Srife®
BEAH)

Rough Work
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